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8 R 2,985.3 Ei& 44.6 == 925.9 ER 1,217.6 IR 36.3 K& 1,062.0 LN 248.6 IR 48.8 ) 65.9 2z 4.39 RE 0.2
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20 FFb 1,069.6 dbifmE 8.5 LS 14.4 alll X =H 6.4 dbigE X B 26.4 1 H X b 23.5 = 1.41 =B X
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23 B®E 79 @ 87  wno X B 12 FE X g 142 @3 X k% 121 £ 0.70 B X
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26 KB 735.0 240 7.3 =%l 2.1 Ri& X REAR 2.4 (ITE) X RE L 5.8 240 X FE 7.1 @I 0.53 dvifmE -
27 ERB 701.9 all 6.6 BiE 0.9 5 X #ndb 2.1 ZH X EE 1.4 £E X  =H 5.9 e 0.51 55 -
28 B4 698.9 IN=] 6.0 FER 0.8 ekt X m#H 2.0 =F X  &H 1.4 =R X kB 5.8 =F 0.50
29 B 633.9 E% 5.7 HER 0.5 = - B’E 1.6 PN X AR 0.3 B X Al 5.3 #E 0.44 LN -
30 BE 605.4  [H 51 ' 0.3 #H - wo 1.5 L8 X ER 0.1 L8 X PN 5.0 Al 0.24 HE -
31 EER 590.7 L 4.9 B 0.2 =8 - BB 1.4 wa X HER X B X HER 4.4 hE 0.23 BE -
32 B 4368 &% 49 WO 0.2 iz 2 0.8 EE X ) X Eg X BB 40  EmH 022  FE -
33 EE 362.7 FE 4.5 Fh 0.1 HAR - ahl 0.3 Fh X B X Ptk X iR 2.8 =5F 0.21 BX -
34 WA 340.9 =H 3.9 = X FE - B 0.3 2R X =% X BFH = BF 2.7 B’ER 0.17 i BN -
35 Bl 311.4 #E 2.6 FE X RBR - dbigE X BEX X B X [ | =& 2.6 FE 0.15 2 -
36 Al 287.3 Fh 2.2 #wH X w@El - K X x5 X =B X AR - A 2.1 B 0.08 @ -
37 ZB 259.7 AR 1.4 =] X (1T - = X EREB X LS X BE - =5 1.8 & 0.06 I -
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SO FEERMBOHTE (BfF40E~SH4E)
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ZDET=1T - 589 610 260 235 204 219 207 251 224 240
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